Ua,3

Va3
d Aﬁa,ﬁ N dﬁa,ﬁ . —
dz | duap/dz | T dz = Ao plas;
dva,g/dz
dw, g/dz
whose matrix is given by
[ 0 0 0 1 0
0 0 0 0 1
0 0 0 0 0
Awp = | 202(1-0)15%(1-20) aB
' = 01-—20' . 1—20 0 0 0
25 = 00
(@®+57)(1-20) i —if
L 0 0 = 2(1—o) = 2(11:10') 2(1—0)

(6)

This matrix has two eigenvalues, A\ = +k% = 4(a? + 32), with algebraic multiplicity equal to 3 and geometric
multiplicity equal to 2. The matrix of eigenvectors is

[ a? o —B8/k i
af i3 afk 0
—iak 4k(l -0 0 —a/k
s (1-0) /
o’k 0 -3 —ik
afk 0 o 0
| —iak? k*(3-40) 0 a
and its associated Jordan form is
k —ik/a 0
0 k 0
_ 0 0 k
Japg = AIQEI%,AQ_EI\'IQ“S =10 0 0
0 0 0
0 0 0

The solution of the differential equation (6) is

U, 5(2) = M, gexp(Ja g2) A

—4k(1-0)
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{—1 =0

o8N, 30

where ﬁg.a is the boundary value of U, s at z = 0, which can be written as
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